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= pO 4289+ 0.0
pl -36.47 + 0.00
1 i
50 100
TP delay [ns]
TVC(c,b ch) (0o, 7 12

1, rz9e+U5 / 25
po 4268+ 0.0
pl -34.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (0,7,1

A1 nuizanze+ud | 25
- po 4273+ 0.0
p1 -37.66 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

- 1nug, 79ve+ud | 25
== po 4281+ 0.0
pl -36.01+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 7,9

T nunguse+us /25
po 4292+ 0.0
p1 -36.48 £ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

T nu, 7bbe+U5 / 25
pO 4288+ 0.0
p1 -36.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,7,2)

A~ 1nuzgase+ud | 25
- po 4296+ 0.0
L pl -37.94+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

- nunL1z0e+05 / 25
- pO 4278+ 0.0
[ pl -35.23+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

T Z11e+U6/ 25
- po 4299+ 0.0
L pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (0,7,14

1000

1 nup,uuBe+US / 25
— pD 4288+ 0.0
L pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

A1 nuy 353e+U4 [ 25
- po 4289+ 0.0
pL -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

= Ui, 7uve+Us / 25
= po 4269+ 0.0
pl -34.57 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

AL saue+u6/25
pO 4301+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

T nurs z30e+U5 / 25
pO 4299+ 0.0
-35.94+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

K71 nuig 19ye+u4 / 25
po 4274+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (08,4

[ C =28.63 [ps/ch]

- 1 nuiLyu4e+ud / 25
pO 4275+ 0.0
p1 -34.92:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 8,8

T i, r1ze+05 / 25
po 4293+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (0,812

T, o7e+U5 / 25
4307+ 0.0
-36.91+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

x- 1 i Gsae+ud | 25
P, po 4257+ 0.0
pL -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

“nu131e+u4 / 25
- pO 4267+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

~ 1 nur. 38be+U5 / 25
e DO 4300+ 0.0
pl -35.67 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

T inun.30/e+U5 / 25
= pO 4317+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

A~ 1 nuiz yooe+ud / 25
o=, po 4271+ 0.0
- pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

-1y 5a5e+04 [ 25
- pO 4290+ 0.0
[ pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T nuiL8z3e+U6 / 25
__ DO 4326+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

1 nup,uuBe+US / 25
- pD 4315+ 0.0
L pl -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT 1 nus.uuve+ud [ 25
- po 4289+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- rnubl/e+us/ 25
4292+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(c,b ch) (0, 8

T M::e+u6/25
pO 4316+ 0.0
p1 -36.42+ 0,00

TP delay [ns]

TVC(C, bch) (0,815

T 1nai r50e+U5 / 25
[aeee, po 4305+ 0.0
p1 -36.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

A7 nun suse+ud / 25
po 4241+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (09,4

- rnuzople+ud / 25
pO 4239+ 0.0
pl -35.38:+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (O 9,8

Tl 3r1e+U5 / 25
po 4270+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

~ 1, ro4e+U5 / 25
pO 4269+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

T/ 1Lyve+ud /25
pO 4236+ 0.0
p1 -34.88+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nu Zsae+u4 [ 25
pO 4256+ 0.0
pL -35.26+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

- 0aze+Us | 25
po 4258+ 0.0
pL -35.05+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

-1 ur 4.59e+U5 / 25
Frvene, po 4246+ 0.0
pl -34.28+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (0,9,2)

A7 1 nuiz.uyae+u4 /25
po 4258+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

Srnun /. 83e+04 [ 25
4254+ 0.0
-35.6+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (0, 9 10

1 nuiLyuze+U6 / 25
DO 4290+ 0.0
pl -35.63 + 0.00

1
100

TP delay [ns]

TVC(cbch) (0,9,14

T, 331e+U5 / 25
pD 4255+ 0.0
pl -33.94+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT s szze+u4 [ 25
po 4257+ 0.0
p1 -35.42+ 0.00

TVC(c,b ch) (0 9,7

1
100

TP delay [ns]

-1 U ggbe+us / 25
pO 4269+ 0.0
pL -36.52:+ 0.00

TVC(c,b ch) (0, 9

TP delay [ns]

T zz4e+u6/25
pO 4287+ 0.0
pl -36.31+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (0,9,15

T 1 nup.2ze+U5 / 25
po 4271 0.0
-34.71+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

T o3 /e+u4 [ 25
- pO 4264+ 0.0
p1 -34.1+ 0.0

[ C =29.32 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 4

- 1 nuiLya4e+04 / 25
=5 po 4285+ 0.0
pl -36.51+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 10,8

T 1nug.4z0e+04 [ 25
= pO 4271+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(Cbch) (o, 10 12

T g, ru1e+Us / 25
= po 4310+ 0.0
pl -36.44 + 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C=29.19 [ps/ch]

AT 1nuiLbz1e+u4 [ 25
- po 4261+ 0.0
p1 -34.26 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 5

“nu1/9e+u4 [ 25
- pO 4294+ 0.0
pL -37.21% 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

- 1nuz.4r3e+U5 / 25
4287+ 0.0
-36.4 + 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 10 13

T nusBLoe+Us / 25
pO 4305+ 0.0
p1 -35.87+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (0,10,2)

- C = 28.89 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 6

1 nuie,Ub4e+u4 | 25
- pO 4293+ 0.0
[ p1 -36.63+ 0.00

X~ 1L g5 /e+U4 [ 25
- po 4270+ 0.0
N p1 -34.62:+ 0.00

TP delay [ns]

TVC(e,b,ch)=(0, 10, 10

1L boze+U6 / 25
= po 4298+ 0.0
N p1 -36.35+ 0.00

TP delay [ns]

TVC(CbCh) (o, 10 14

1000

~ 1 nuig.y44e+05 / 25
= pD 4315+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

A~ nuiLz33e+u4d [ 25
- po 4286+ 0.0
pL -34.79+ 0.00

[ C =28.74 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 7

- Uiz, bage+us | 25
po 4313+ 0.0
p1 -37.05+ 0.00

TP delay [ns]

TVC(Cbch) (0, 10 11

T nuiL 3y3e+U6 / 25
k. pO 4292+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (0, 10 15

1 num,pzbe+U5 / 25
[aeee, po 4308+ 0.0
p1 -36.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (0,11,0)

b po

A~ 1nuiLsiie+ud [ 25
4214+ 0.0
p1 -34.56 + 0.00

TP delay

TVC(cbch) (0,11,4

[ns]

T rnuiLbrbe+u4 [ 25
4220+ 0.0
-34+ 0.0

[y po
p1
3000 - 7
2000~ T
wor C =29.41 [ps/ch] ™, ]
% i
TP delay [ns]
TVC(c,b, ch) (0, 11 8) -
Trnuy r45e+U4 5
A0, po 424;‘
pl -34.6+ 0.0
3000 - T
2000 |- N
10r C =28.90 [ps/ch] ™, 7]
4 % i
TP delay [ns]

4000 =

3000

2000

1000

TVC(cbch) (0,11, 12

X~ 1 1uip. 420e+U5 / 25
po 4261+ 0.0
pl -35.46 + 0.00

TP delay

PR RS SR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 E,

3000

2000

1000

TVC(Cbch) (0,11,1)

e, po

AT 1 nuiL, ru4e+u4 [ 25
4218+ 0.0
pl -35.12+ 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

-1 nui B31e+u4 / 25
4247+ 0.0
pl -34.79 + 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

po

[ns]

T nur1Z1e+U5/ 25
4256+ 0.0
p1 -34.49 + 0.00

TP delay

TVC(cbch) (0,11,13

pO

[ns]

T nug s15e+U5 / 25
4256+ 0.0
pl -35.31+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =
3000
2000

1000

TVC(CbCh) (o, 11 2)

=, PO

~ i p4se+u4 [ 25
4232+ 0.0
pl -35.03+ 0.00

TP delay

TVC(cbch) (0,11,6

pO
p1

[ns]

T r3/e+04 [ 25
4268+ 0.0
-35.86 + 0.00

TP delay

TVC(cbch) (0,11, 10

[ns]

X1 nuiL830e+U6 / 25
po 4236+ 0.0
pl -33.97 + 0.00

TP delay

TVC(cbch) (0,11, 14

[ns]

X~ 1w, ry4e+05 / 25
po 4269+ 0.0
pl -35.89+ 0.00

TP delay

PR SR T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

e po

AT 1 4z4e+04 1 25
4239+ 0.0
p1 -34.92+ 0.00

TP delay

TVC(cbch) (0,11,7

pO
pl

[ns]

-1 nui ryYe+us / 25
4247+ 0.0
-34.06 + 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

pO

[ns]

1 nuiL gbae+U6 / 25
4255+ 0.0
p1 -34.93+ 0.00

TP delay

TVC(c, bch) (0,11, 15

[ns]

)

T nug. oy /e+u5 /25
4260+ 0.0
p1 -34.64 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

© L pzye+u4 [ 25
- pO 4265+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,124

- 1nuzu34e+u4 / 25
4278+ 0.0
-37.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

T g, r1oe+U4 / 25
= pO 4261+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T .gr1e+U5 /25
pO 4268+ 0.0
pl -35.43+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT 1z zove+ud [ 25
Fee, po 4278+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(cbch) (0,125

-1 nuzulze+ud / 25
e pO 4268+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

<1 nuw.sYve+U5 / 25
- po 4272+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (012,13

<1 nu voae+U5 [ 25
frvase pO 4271+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

A~ 1 nuzugze+04 /25
_- po 4273+ 0.0
o pl -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

Ty, r29e+04 [ 25
e pO 4270+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T L 3z1e+U6 / 25
e po 4283+ 0.0
3 pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (0.12, 14

T,/ r8e+U5 / 25
pD 4278+ 0.0
pl -35.57 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

A- 1 2, [ye+ud | 25
P, po 4297+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

- 1nu 61e+U5 / 25
- pO 4294+ 0.0
pL -37.05+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 12, 11

T nuiz1g/e+u6 / 25
4291+ 0.0
-36.3 + 0.0

TP delay [ns]

TVC(cbch) (0,12,15

T nurszg/e+U5 / 25
po 4277+ 0.0
-36.03+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

s, pO

pl

-1 nuz.49se+04 [ 25
4274+ 0.0
-35.9.+ 0.0

TP delay

TVC(Cbch) (o, 13 4

[ns]

T B.83e+04 / 25
4292+ 0.0
pl -36.91+ 0.00

4000 [ PO
3000 [ ]
2000~ 7]
1000~ C ]
0 = 00
TP delay [ns]
TVC(c,b, ch) (0,13,8)
-1 nug s40e+U5 / 25
4000 fame, pD 4310+ 0.0
p1 -34.3% 0.0
3000 - 71
2000 7]
1000 7

[ C =29.16 [ps/ch] ™.

0

1
50 00

TP delay

TVC(Cbch) (o, 13 12

4000

3000

2000

1000

po
p1

[ns]

T rnuiLuy1e+u6 / 25
4294+ 0.0
-34.22+ 0.00

[ C =29.22 [ps/ch]

L n n n n 1
50 100

TP delay

[ns]

TVC(chh) (0,13,1)

4000 [ po

x- 1 iz 0dae+U4 | 25
4274+ 0.0
-36.83+ 0.00

p1

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (0, 13 5

4000

=1 nui uble+us / 25
4294+ 0.0
-36.94 + 0.00

pO
p1
3000 ]
2000 [ ]
1000 C ]
0 L o
50 100
TP delay [ns]

TVC(eb.oh)=(0, 13,9

4000 s DO

pl

T nuiLyy/e+u6 / 25
4325+ 0.0
-34.2+ 0.0

3000 -

2000 -

oo C = 29.24 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 13 13

4000 [

TinuiL1yle+u6 / 25
4297+ 0.0
-35.55+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,13,2)

- P

X~ 1 s, 129e+04 [ 25
4275+ 0.0
p1 -35.45+ 0.00

TP delay

TVC(Cbch) (o, 13 6

pD
pl

[ns]

-1 g y11e+U5 / 25
4312+ 0.0
-37.05+ 0.00

TP delay

TVC(eb,ch)=(0, 13, 10

[ns]

-1 nug.Yr4e+U6 / 25
4340+ 0.0
-34.39+ 0.00

4000 DO
[ pL
3000:— 7
2000:— _:
100F C = 29.07 [ps/ch] . 1]
1 1 ek
d 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(CbCh) (o, 13 14

pD
pl

T 1nuiL510e+U6 / 25
4292+ 0.0
-34.81+ 0.00

- C = 28.72 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

AT 1 nuizbzse+us / 25
4294+ 0.0
p1 -37.09 + 0.00

TP delay

TVC(c,b Ch) (0, 13 7

pO
pl

[ns]

- iy 32ze+U5 / 25
4301+ 0.0
-36.36 + 0.00

TP delay

TVC(Cbch) (0, 13 11

pO

[ns]

T nuig 31 /e+u6 / 25
4339+ 0.0
pl -35.35+ 0.00

TP delay

TVC(cbch) (0, 13 15

[ns]

-1 nuig b1ae+u6 / 25
4313+ 0.0
-36.31+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (o, 14 0)

© L sose+u4 / 25
4241+ 0.0
-36.41+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (0, 14 4) -
Trnu1z3e+U4 [ 25
= pO 4259@
pl -34.64 + 0.00
[ C =28.87 [ps/ch]™_ ]
% i
TP delay [ns]
TVC(c,b, ch) (0, 14 8

1 nuiL4n3e+U5 / 25
4257+ 0.0
-35.3+ 0.0

TP delay
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4274+ 0.0
-35.79 + 0.00

TP delay

TVC(cbch) (2, 3 10

pO
pl

[ns]

1 nuiLbo3e+U6 / 25
4312+ 0.0
-35.93+ 0.00

TP delay

TVC(cbch) (2,3 14

[ns]

T rnug.gz1e+05 / 25
4275+ 0.0
pl -34.53+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

e, po

AT 1, r10e+U4 [ 25
4265+ 0.0
-35.79+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 3,7

C po
pl

-1 nui By /e+u5 / 25
4250+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

pO
pl

T, /54e+u6/25
4301% 0.0
-35.62 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

-1 nup.gboe+U5 / 25
4277+ 0.0
-35.77+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

T Lyse+ud /25
pO 4261+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (24,4

- Ui gye+ud [ 25
po 4267+ 0.0
pl -35.76 + 0.00

- C =
o+ o
TP delay [ns]
TVC(cbch) (2 4,8

-1 nug plie+ud | 25
pD 4306+ 0.0
p1 -38.25+ 0.00

TP delay [ns]

TVC(cbch) (2,4,12

Trnugyrie+Us /25
po 4294+ 0.0
pl -34.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1)

[ C =29.02 [ps/ch]

AT 1 nuiL o3e+u4 [ 25
po 4246+ 0.0
p1 -34.46 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

“nuz.Us/e+u4 [ 25
pO 4277+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

T nun go3e+us / 25
po 4306+ 0.0
p1 -37.09+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

T 1 nuiz gyze+U5 | 25
4280+ 0.0
-34.91+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,4,2)

X~ 1z 0r3e+u4 [ 25
- po 4255+ 0.0
[ p1 -35.27+ 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

1000

- rnug 112e+04 / 25
- pO 4288+ 0.0
[ p1 -36.74+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

Tnun154e+U6 /25
po 4320+ 0.0
p1 -36.92 + 0.00

TP delay [ns]

TVC(cbch) (24,14

-1z, ro0e+U5 / 25
pD 4284+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,3

A1 nuizzroe+ud [ 25
o, po 4279+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2 4,7

= 1 nu Byse+ud | 25
= po 4283+ 0.0
p1 -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

T asze+u6/25
pO 4324+ 0.0
p1 -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

T nugny1e+U5 / 25
po 4287+ 0.0
p1 -34.89 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0)

T Laze+ud /25
pO 4273+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (2,54

- 1 nurLyuyve+ud / 25
- pO 4247+ 0.0
pl -36.31 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 5,8

© i 1z0e+U5 / 25
- PD 4267+ 0.0
p1 -34.37 + 0.00

[ C =29.09 [ps/ch]

1
0 50 100

TP delay [ns]

TVC(cbch) (2,5,12

~rnun.4uie+U5 / 25
pO 4280+ 0.0
pl -34.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

x- 1 L duze+ud | 25
Fee=. po 4266 + 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

“nu1z/e+04 /25
4259+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(c,b ch) (2 59

Tonan£53e+U5 /25
e DO 4283+ 0.0
p1 -34.25+ 0.00

TP delay [ns]

TVC(C, bch) (2,5,13

T nui, 7u3e+U5 / 25
F= 4289+ 0.0
-33.85+ 0.00

[ C =29.54 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,5,2)

- w0

A7 1nui rzoe+04 /25
4281+ 0.0

p1 -36.51 0.00

TP delay [ns]

TVC(cbch) (2,556

-~ 11ug.494e+04 | 25

4259+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (2, 5 10

1 nuiL 538e+U6 / 25

__ DO 4292+ 0.0
- pl -34.69 + 0.00

TP delay [ns]

TVC(cbch) (2,514

e, pD

pl

T gy rse+us / 25
4297+ 0.0
-34.76 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3)

po 4281+ 0.0
pl -36.68 + 0.00

AT rnuzouLe+ud [ 25

TP delay [ns]

TVC(c,b ch) (2 57

F pO 4263+ 0.0
pL -35.99+ 0.00

-1 nu.bale+us / 25

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 5

- pO 4298+ 0.0
pl -34.19.+ 0.00

Jnurg bbze+u6/25

TP delay [ns]

TVC(C, bch) (2,5,15

T 1 nup,bb3e+u5 / 25
4281+ 0.0
-34.5+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

e, pO 4319+ 0.0
3000~ 7
2000~ ]
1000 C 7
1 1 -
50 00
TP delay [ns]
TVC(eb.ch)=(2,6,8)
©rnuzusie+ud / 25
4000 fe, pD 4302+ 0.0
-34.63+ 0.00
3000~ 7]
2000~ 7]
oo C = 28.88 [ps/ch] ™, 7]
1 1 -
o 50 00
TP delay [ns]
TVC(c,b Ch) (2, 6 12)
T 1nun.yple+ud / 25
4000 = 4279+ 0.0
-32.78 + 0.00
3000 [ 7]
2000 7
1o C = 30.50 [ps/ch] "]
el 35 .

TVC(cbch) (2,6,0)

A7 1 nuiz oune+ud [ 25

po 42551+ 0.0
pL -35.21+ 0.00

TP delay [ns]

TVC(cbch) (26,4

- i b43e+04 / 25

)
p1 36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

A1 iz 0aze+U4 | 25
e po 4264 + 0.0
pL -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

-1 nui4y1e+u4 / 25
4320+ 0.0
-34.78 + 0.00

[ C =28.76 [ps/ch] 7

50 150
TP delay [ns]

TVC(c,b ch) (2 6,9

s g rae+ud ] 25
- pO 4321 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 6 13

T inuig zzge+ud [ 25
4285+ 0.0
-34.52+ 0.00

[ C =28.97 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,2)

X~ 1 iz b1oe+U4 [ 25
- po 4273+ 0.0
[ p1 -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.33 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 6, 10

~1nu,144e+05 / 25
- po 4341+ 0.0
r p1 -36.23+ 0.00

© 1 nuiLgobe+u4 / 25
- pO 4315+ 0.0
[ -35.3+ 0.0

TP delay [ns]

TVC(cbch) (2,614

- 1 nuiz pBse+u4 [ 25
-, pD 4290+ 0.0
N pl -35.14 + 0.00

F C = 28.46 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

R 1S Zoae+ud | 25
L po 4278+ 0.0
pL -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nui goge+ud / 25
- pO 4318+ 0.0
p1 -34.73+ 0.00

[ C =28.80 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (2, 6

Ty, zuue+u5/25
po 4336+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 6 15

- 1 nuis sove+ud [ 25
- 4298+ 0.0
-34.72+ 0.00

I C =28.80 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A~ 1 nui rose+u4 /25
po 4259+ 0.0
p1 -36.09+ 0.00

TP delay [ns]

TVC(cbch) (27,4

Tz 18e+ud [ 25
pO 4244+ 0.0
p1 -34.77:+ 0.00

TP delay [ns]

TVC(ebeh)=(2,7,8

Tz 38 e+U5 [ 25
pO 4262+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(Cbch) (2, 7 12

g, ryze+U5 / 25
po 4269+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,7,1)

“rnun z11e+u4 /25
pO 4267+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

- U bzbe+u4 [ 25
pO 4245 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVCebeh)=(2,7, 9

T inuy, 732e+U5 / 25
pO 4265+ 0.0
p1 -34.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

1 nup5U3e+U5 / 25
pO 4260+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

4000

2000

4000
3000

2000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (2,7,2)

1000

X~ 1z, rove+u4 [ 25
F- po 4281+ 0.0
L pl -37.6+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,7,6

1000

-1y, 0Y0e+u4 / 25
4272+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (2,7,10

Tz, 147e+06 / 25
po 4261+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(Cbch) (2, 7 14

T o, ye+u5/ 25
e, pD 4268+ 0.0
L p1 -35.76 + 0.00

3000

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

AT 1 nuy ysse+u4 / 25
po 4278+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(c,b ch) (2 7,7

S 3386405 [ 25
pO 4263+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

T, 4U4e+u6/25
pO 4280+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

T num.urse+us /25
po 4275+ 0.0
p1 -36.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

A~ 1 nui o40e+u4 / 25
4272+ 0.0
-35.21+ 0.00

TP delay [ns]

TVC(cbch) (28,4

- i b4a1e+u4 / 25
4285+ 0.0
-34.6+ 0.0

e, pO
[ C=28.90[ps/ch] ™, 1
o+ o
TP delay [ns]
TVC(cbch) (2 8,8

s 5rze+0d [ 25
po 4287+ 0.0
p1 -36.01+ 0.00

TP delay [ns]

TVC(cbch) (2,812

po
p1

~ 1 up.451e+05 / 25
4314+ 0.0
-35.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

e, po

p1

A7 1 huiLbobe+u4 / 25
4289+ 0.0
-35.91+ 0.00

TVC(c,b ch) (2 8,5

1
100

TP delay [ns]

- 1nuz.03ze+u4 / 25
4280+ 0.0
-33.78 + 0.00

Feee. pO
pL
[ C=29.60 [ps/ch] ™ 7
-+ o
TP delay [ns]

TVC(c,b ch) (2 8,9

-1 nuiyygle+us / 25
== DO 4285+ 0.0
p1 -35.13+ 0.

35.13 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

T nug. 10ze+U5 / 25
4298+ 0.0
-36.08 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000 - PO
10005— C =29.24 [ps/ch]
: &

TVC(cbch) (2,8,2)

- PO

pl

X~ 1L Bzoe+U4 [ 25
4292+ 0.0
-35.22:+ 0.00

TP delay [ns]

TVC(cbch) (28,6

-y 1z5e+04 [ 25
4297+ 0.0
-34.2+ 0.0

1
100

TP delay [ns]

TVC(eb,oh)=(2, 8, 10

4000

3000

2000

1000

4000
3000
2000

1000

- 1 nuiL pbae+U6 / 25
4297+ 0.0
-34.61+ 0.00

- C = 28.89 [ps/ch]

1
o 50 100

TP delay [ns]

TVC(Cbch) (2, 8 14

T nuigplze+U5 / 25
4312+ 0.0
-35.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3)

AT 1 nug.513e+U4 / 25

fes. po 4275?‘
pl -33.72+ 0.00
[ C=29.65[ps/ch] ™ 1
gé e
TP delay [ns]

TVC(c,b ch) (2 8,7

pO
pl

-1 nug 234e+05 / 25
4307+ 0.0
-35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T zuze+u6/25
- pO 4316+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

T nuiL 155e+U6 / 25
4320+ 0.0
-37.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

A1 B3ve+ud [ 25
4214+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(cbch) (2,94

- 1nuz.430e+04 / 25
4263+ 0.0
-37.32 0.00

= pO
p1
- C N
" =
TP delay [ns]
TVC(c,b ch) (2, 9 8
= pD

i bEe+U5 / 25
4259+ 0.0
-35.41+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,9,12

po
p1

T4 an1e+U5/25
4255+ 0.0
-36.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(c,b ch) (2,9,

A

- po
pL

1

nuz.z44e+04 | 25
4232+ 0.0
-37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

- pO

pl

Cnun Z2ye+ud [ 25
4269+ 0.0
-37.94+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2,9,9

X

prease po

pl

nuy. Yo /e+U5 / 25
4264+ 0.0
-35.01+ 0.00

1
100

50
TP delay [ns]
TVC(c,b Ch) (2,913

X1

nuig.49o0e+U5 / 25
4249+ 0.0
-35.85+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,9,2)

po

pl

X~ 1 iz zose+u4 | 25
4235+ 0.0
-35.01+ 0.00

TP delay [ns]

TVC(cbch) (29,6

= PO

pl

©nu,345e+04 / 25
4258+ 0.0
-35.98 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

pO

pl

T a3 e+U6 / 25
4281+ 0.0
-34.99 + 0.00

1
100

TP delay [ns]

TVC(Cbch) (2, 9 14

v, pD

pl

~ 1y, sove+Us / 25
4260+ 0.0
-36.82+ 0.00

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

= po

x- 1 iz duae+ud | 25
4218+ 0.0
-34.78+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 9,7

=1 nui bble+us / 25
4288+ 0.0
-37.88 % 0.00

= pO
pL
- C T
L I -'-
50 100
TP delay [ns]

TVC(c,b ch) (2,9,1

X~ g,
pO
pl

/me+u6 125
4278+ 0.0
-35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 9 15

feeses pO

-1 1ug 484e+U5 / 25
4253+ 0.0
-36.06 + 0.00

TP delay [ns]
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3000
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1000
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1000

4000
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1000

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

- po

T L se+ud /25
4225+ 0.0
p1 -35.82+ 0.00

TP delay

TVC(Cbch) (2, 10 4

[ns]

- i, ro8e+u4 / 25
4253+ 0.0
pl -35.03 + 0.00

e pO
[ C =28.54 [ps/ch] ]
o+ o
TP delay [ns]

TVC(cbch) (2, 10, 8)

- nuiLu1ze+us / 25
- pD 4275:‘

pl -36.13+ 0.00

TP delay

TVC(Cbch) (2, 10 12

po
p1

[ns]

Truuip1/e+u5/25
4287+ 0.0
-35.34+ 0.00

1
100

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

e, po

A7 1 nuiLb3be+u4 [ 25
4224+ 0.0
-34.62 + 0.00

p1

TP delay [ns]

TVC(c,b Ch) (2, 10 5

-1 nuz.uz4e+04 [ 25

4252+ 0.0
-34.33+ 0.00

[ C =29.13 [ps/ch]

1
50 100

TP delay [ns]

TVC(ebeh)=(2, 10,9

e, po

pl

<1 nuiL ybbe+u6 / 25
4289+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

froaee. pO

1 nui sBe+us | 25
4287+ 0.0
-36.16 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000

2000

4000
3000
2000

1000

1000

0

TVC(CbCh) (2,10,2)

- PO

A~ 1nuig 140e+04 / 25
4252+ 0.0
p1 -36.66+ 0.00

TP delay

TVC(Cbch) (2, 10 6

pD
pl

[ns]

-1 nug yzye+ud | 25
4285+ 0.0
-35.83 + 0.00

TP delay

TVC(e,beh)=(2, 10, 10

pO
pl

[ns]

1 nuiLgoYe+U6 / 25
4317+ 0.0
-36.21+ 0.00

TP delay

TVC(c,b Ch) (2, 10 14

pD
pl

[ns]
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-35.49+ 0.00
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-35.94 + 0.00
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1 nuis.oyse+U5 / 25
4269+ 0.0
-35.05+ 0.00

TP delay [ns]
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T 13/e+04 /25
b pO 4235+ 0.0
p1 -35.49+ 0.00
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TVC(eb,oh)=(3, 2,8

- s 5 roe+ud [ 25
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p1 -35.55+ 0.00
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po 4277+ 0.0
p1 -35.3+ 0.0
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pL -36.65+ 0.00
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-1 nu Zse+u4d [ 25
pO 4262+ 0.0
pL -36.85+ 0.00
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TVC(eb,oh)=(3, 2, 9

Tonuan 3.8e+U5/ 25
pO 4287+ 0.0
p1 -36.23 + 0.00
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T nui B4se+U5 [ 25
pO 4280+ 0.0
p1 -35.63+ 0.00
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X~ 1z 1z9e+04 [ 25
= po 4256+ 0.0
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-36.3+ 0.0
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p1 -37.09 + 0.00
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-1 nuy blye+u4d / 25
e pO 4262+ 0.0
p1 -35.67+ 0.00

TP delay [ns]

TVC(eheh=(3, 2,

T bb/e+U6/25
po 4312+ 0.0
pl -36.93 + 0.00
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-1 nuiz suoe+U5 / 25
pO 4285+ 0.0
p1 -35.15+ 0.00
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== po 4265+ 0.0
pl -34.17 + 0.00

[ C =29.27 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

T 4.5/e+04 /25
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== po 4256 + 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nuiLBure+u4 / 25
e, pO 4280+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nun b.Ube+us / 25
po 4268+ 0.0
p1 -34,53 £ 0.00
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71 nuiz.byve+u5 / 25
pO 4286+ 0.0
p1 -35.82+ 0.00
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- pO 4288+ 0.0
[ p1 -35.49+ 0.00
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F po 4294+ 0.0
[ p1 3534+ 0,00
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TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

po 4268+ 0.0
pL -34.49  0.00

x- 1 L syae+Ud | 25

[ C =28.99 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

po 4300+ 0.0
pl -34.48 + 0.00
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o+ o
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E pO 4293+ 0.0
p1 -36.34+ 0.00
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TP delay [ns]
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k. pO 4291 0.0
pL -36.32:+ 0.00

1nuis,1/ze+U5 /25
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T ro/e+04 [ 25
- pO 4286+ 0.0
pl -36.02:+ 0.00
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TP delay [ns]

TVC(cbch) (3 4,8

© i, r83e+U5 / 25
pD 4261+ 0.0
pl -34.22 + 0.00
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T, 1z /e+05 / 25
pO 4285+ 0.0
pl -36.27 + 0.00
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“nu3b/e+u4 /25
- pO 4291+ 0.0
pL -36.68+ 0.00
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TVC(c,b ch) (3 4,9
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e, po 4272+ 0.0
p1 -34.64 + 0.00
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- 173e+05 / 25
i pO 4301+ 0.0
pl -35.85+ 0.00
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TVC(c,b ch) (3, 4

T, 144e+u6/25
po 4283+ 0.0
p1 -34.65+ 0.00
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TVC(C, bch) (34,15

T nup.p1ze+U5 / 25
4273+ 0.0
-35.91+ 0.00

TP delay [ns]
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S rnan z.uge+usd [ 25

== po 4271+ 0.0
pl -35.33+ 0.00
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-1 nu 139e+04 / 25
= 4259+ 0.0
-34.66 + 0.00

[ C =28.85 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (3 59

~ 1 nuy gBae+U5 / 25
po 4315+ 0.0
p1 -35.15+ 0.00

- C =28.45 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

~ 1 nuis ygae+Us / 25
- pO 4333+ 0.0
p1 -36.62+ 0.00
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TVC(cbch) (3,56

A~ 1 nui loae+ud | 25
- po 4290+ 0.0
[ p1 -35.86+ 0.00

3000

©1nug,3ube+u4 / 25
fo, pO 4262+ 0.0
L pl -34.34 + 0.00

- C =29.12 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 5, 10
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TVC(Cbch) (3, 5 14

~ g p3oe+Us / 25
- pD 4333+ 0.0
[ pl -36.66 + 0.00
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po 4270+ 0.0
pl -34.25+ 0.00

P

- 1nu 3z1e+U5 / 25

[ C =29.20 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 5

pO 4344+ 0.0
pL -34.97+ 0.00

s yz::e+u5/25

[ C=28.60[ps/ch] ™. 1]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

pO 4345 0.0

1nun . 10e+U5 /25

36.74 + 0.00

TP delay [ns]
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A~ 1nuiL a49e+04 | 25
= po 4230+ 0.0
p1 -34.1+ 0.0

[ C =29.32 [ps/ch]
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50 100

TP delay [ns]

TVC(cbch) (36,4

- UL gU1e+u4 / 25
=5 po 4299+ 0.0
pl -36.66 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

Truun z.49e+05/ 25
pO 4282+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

~ 1y p4se+us / 25
po 4268+ 0.0
pl -34.95+ 0.00
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[ C =28.91 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nu 1z0e+ud | 25
[ree, po 4315+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T inui 734e+U6 / 25
pO 4299+ 0.0
p1 -35.94 £ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

T nu.n3ve+U5 [ 25
pO 4282+ 0.0
p1 -35.76 + 0.00

TP delay [ns]
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A~ 1 nuio1ae+u4 / 25
po 4260+ 0.0
p1 -35.22:+ 0.00

TP delay [ns]

TVC(cbch) (36,6

= 1 nurL,0uYe+u5s / 25
4314+ 0.0
-36.8+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

1 nuiz,us3e+U6 / 25
po 4290+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

Ty, r9oe+U5 / 25
pD 4293+ 0.0
pl -36.32+ 0.00
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TP delay [ns]

TVC(c,b ch) (3 6,7
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e pO 4317+ 0.0
p1 -37.76+ 0.00

50 100
TP delay [ns]
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pO 4304+ 0.0
pL -36.42 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

T nur.yrse+us [ 25
pO 4285+ 0.0
p1 -35.43+ 0.00

TP delay [ns]
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T 1 sye+ud [/ 25
pO 4261+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (3 7,8

T 14/e+05/25
pO 4268+ 0.0
pl -36.95+ 0.00
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pl -34.53+ 0.00
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- 1nu Z1be+u4 / 25
e, pO 4249+ 0.0
p1 -34.74+ 0.00
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TVC(c,b ch) (3 7,9

T naiLzz/e+u6 / 25
po 4285+ 0.0
p1 -36.32:+ 0.00
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pO 4257+ 0.0
p1 -34.85+ 0.00
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“rnui gs1e+ud [ 25
4267+ 0.0
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po 4295+ 0.0
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pl -34.27 + 0.00
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pl -36.63 + 0.00
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TP delay [ns]
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35.27 + 0.00

TP delay [ns]
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